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I Analyzing response of 'nan to »"1’s claim that 129 211 for nva NY1aW requires no NYIR NPV
a  argument: there is no precedent for liability at less than nt
i challenge: an ant — as per 3" man, eating an ant generates man avn
1 defense: that is a n2
ii  challenge: w1pn (for Mm%»n DWR 21°N)
1 defense: still requires a 1YW — NI MV
iii  challenge: if he explicates an oath not to eat any amount (v1an)
1 defense: that is similar to n»a
iv  challenge: if takes an oath not to eat dirt liability is at X1nw %3 (we assume...)
1 note: perhaps this answrs X17’s question about the Myw for dirt — n>1
(a) rejection: perhaps it is still a ®1nw 93 — perhaps minimal 0*1Ww only apply to edibles
v challenge: mnnp — (if he prohibits certain foods on himself — 119w for man is v")
1 defense: that is also w1an), since he didn’t mention n%3R (e.g. 12993 *9Y wmMan)
I Analyzing y™'s defense: where is there a precedent for bringing a 129p for an utterance?
a  challenge: 9T brings a 129p
i block: y"¥'s claim was about an utterance that prohibits — not an utterance which is, itself, the violation
b challenge: 9 n
i defense: the reference is to a 129 which comes for his words; here it comes to allow him to drink wine (etc.)
¢ challenge: w1pn
i defense: y™ reference was to speech was prohibits for himself; v1pn generates a universal prohibition
d  challenge; mnnp (assuming that if someone violates a xwa 7, it is considered n»yn)
i defense: y"y must hold mnnpa n»yn PR (not considered 'n »1p)
III delimiting dispute of nnon/y™
a  XN11:no dispute if he explicates that he won't eat from this food, it’s like 172 —liable 520 275 ®1W Y2
b ®1m:no dispute if he states DIWOR XY, even though we may have interpreted it as %28
¢ 9" no dispute if it was a bnp — since he didn’t use the word n%9R (e.g. '9» 158 MP9) — no NYIR NYY
i challenge: my»1aw are not q70xn, dispute o'non/n" re mnnp;if there’s no minimal MYW for mnnp — no need for Ny
1  defense: case where he declared nnp 1t 0% on each one
(a) block: if so, he didn’t have Myw from either one
(b) adjustment: he said onp %Y [NVYN NYIR
(i) question: parallel case in my1aw —if he took an oath not to eat from both — why no q17x?
(ii) answer (o9 77): since they are separate for 117p 210, there is no Ny
(iii) challenge: why would n"y then equate myaw::mnnp for no grx?
(iv) rather: n™ equates Ny to mnnp (there is 917’8) — as he rejects onio *7’s reasoning
2 defense2 (8237):9"'s ruling was only re: mian; kn»1a (challenge) was re: 129p (M%»n DWR) where we need 2™
(a) challenge: this implies that 1327 ‘s position is mnnpa n»yn v (2 127p)
(b) explication: Xn»11: if someone is W10 a loaf and anyone eats it — n%yn; therefore it may be n791 (as w1pn)
(i) Dbut:if he says "9y PN W 133 (=Mn1p)
1. »”1. only he violates n»yn, not anyone else = no N1
2. oporr no one is YYN, since MNNPa 1PN PR
(if) answer: switch the positions - n”1 says no one is »1n; 0’noN say only 1M is Y0
1. challenge: how could n™ have equated mnnp to m»aw, that there is no Ny
a. implying: that there is n»yn
b. answer: that position was 1127 »1219; i.e. he holds "pa n%yn pr at all
i.  but: argues that they should at least allow for no yvx
ii. 237 disagee, as oma "7’s rationale only applies to m»aw, not mnnp
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IV associated inquiries:
a  Raw: (eating dirt)
i presmise: if he takes a n»12w not to eat (at all) and eats dirt — 7104 — the referet was edibles
1 but:if he takes a n»1aw not to eat dirt — what’s the 1w
(a) lemmal: all “eating” is nora
(b) lemma2: o1 is only meaningful re: edibles — here it is X1 %3 — ™M
b ®17: (eating grape seeds)
i if: he took an oath not to eat j¥In, what is the 1w
1 lemmal: since its normally eaten with the grapes, he intended regular eating (n’13)
2 lemma?2: since its never eaten “as is”, and he mentioned jxn — meant v”>- ypn
¢ wN 7 (a1 taking an oath about %)
i ifran takes an oath not to eat 1xIn
1 lemmal: since he’s already foresworn by m7’1 against a n’13, the oath must include even a v
2 lemma?2: since he said “n%aR”,the intent is n’>
(a) argument: mwn rules that if he takes an oath not to eat (at all) and eats m>wnm oxpw etc. -
(b) o2pom: liable
(c) v exempt
(i) and: we asked — how could he be 17n; he’s already foresworn from *°0 90 (191 YawIN)
(if) Snrow1 27,70 1 if he included permitted things along with these
(iif) »”x could only be if he explicated a 1w *sn (13279) or unexplicated according to y™
(d) and: m%»a (for anyone) are parallel to 1xn for a 9n
(i) and: only valid if he explicates (¥1an) less than n>ra = default is n>r> (= no naw at all)
3 conclusion: his intent is n>13 (unless he explicates ") = no NMY12w (1M Yawvin)
(a) suggestion: perhaps this would solve ®17's query about the Myw of dirt
(i) argument: dirt:n% 21 — and unless specified otherwise, default intent is n>r>
(if) block: dirt is inedible; n’t> may be irreleva nt to it; n%721 is edible, just prohibited
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